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= 510 =112Xx=S

g 511 202X SS EEREL
SN-F-2-8-5 Ofl &t b JEA Hlnsz

=S Al 869,372 868,604 768
A1 869,372 868,604 768
500 Ex= 809,792 809,024 768
510 =12X=S 667,396 539,398 127,998
511 =1EX=SS 667,396 539,398 127,998
511-01 =02 %x= 567,39 439,398 127,998
OREU= 9,000 12,000 A3,000
OXIATHAHA X2 6,666 6,450 216
OXNSSSH LAcIA 122,986 156,492 33,506
ontsJ1g 54 38,000 0 38,000
OAt=I &g |4 150,000 173,712 A23,712
OS3E AL LEDZE WXl 150,000 0 150,000
520 Al ,EHIEX=SS 142,396 269,626 A127,230
521 Al - EHIEX=SS 142,396 269,626 A127,230
521-01 Al - THIZX=S 142,396 269,626 A127,230
ORM262 HHEEHh LEWH X 0 50,000 A50,000
OFAHUREZSY & U+ |4 5,000 0 5,000
CESI2LIEHRA 2,400 1,200 1,200
OISR = 20,000 100,000 A80,000
OF4ad 3NUF 1,000 350 650
OXNSSSH LXAeiAd 36,896 46,948 10,052
OAt=I &g =4 38,000 43,428 Ab,428
ontsJ1g8 54 11,400 0 11,400




